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KABN (M) BRI BEMR REHBMELERRE
2 B I # g A a A B | HE| % B | HINE
AIE
+ I
gl 2D BEL | m3| 453 45.0
Bt - B m3 10.0 10.0
BR1ER m3 40.9 41.0
Binng m3 40.9| 41.0
ERT
BRIV U—F W1 t=20cm m3 24.9 5.0
HLarsy—+ W2 t=10cm m3 12.0 12.0
1k el 1.0 ~1.0|
25 1t kB #F| 1.0 1.0
BT
R W3 t=20cm m2 - 10.5 11.0
RET
ST @H| 1.0 1.0
T RBITDS5H S 2.4/ 320
SR T ABLDS5H 4.5 5.0
BT %?o%ﬂﬁwg - 55.0/ ™ 55.0
K& H 10._2 | 10.0




( No.

it % T HTEE BEIT
, BET(EETL) C2(E) BT B
A R Mlmam T 5] 0F |BEE | 8] uR |(HaW T 5] aE | he
SECT 50.0 1.6
SECT 61.5 11.5 1.4 1.50 17.3
SECT 63.0 1.5 2.1 1.75 ' 2.6
SECT 64.0 1.0 2.1 2.10 2.1
SECT 64.0 1.4
SECT 74.0 10.0 0.7 1.05 10.5
SECT 77.0 3.0 0.9 0.80 2.4
SECT 90.0 13.0 0.7, 0.80 10.4
SECT 50.0 0.0
SECT 63.0 13.0 0.7, 0.35 4.6
SECT 74.0 11.0 0.1 0.40 4.4
SECT 77.0 3.0 0.1 0.10 0.3
SECT 90.0 13.0 0.0/ 0.05 0.7
m m3 m3
=511 80.0 45.3 10.0




( No.

EED LY —h

Bt 5 T EE BES
3 F@Ewu FOWT)  t=20cm[9 Cav7y-FW2)  t=10cn
A R|BE TRE| mE | & [FOE| BE | @ (¥ 5 mE | P
SECT 50.3 3.51| 3.38
SECT 61.5 11.2| 403 3771 4220 393 366 41.0
SECT 63.0 1.5| 4.73) 438 6.6|] 463 428 6.4
SECT 64.0 1.0] 473 4713 47| 4.63] 4.63 4.6
SECT 64.0 4.03 3.93]
SECT 74.0 10.0] 2.71] 3.37| 33.7| 258 326 326
SECT 77.0 3.0 2.61| 266 8.0 248 253 7.6
SECT 89.7 1227 2.02] 2.32 205 1.90] 2.19] 27.8
EROVIU—MAE [LavyU— AR
124.7 x 0. 2=24. 94m3 120. 0% 0. 1=12. 00m3
m m2 m2
&5t 39. 4 124.7 120.0




151k kB

i3
B&AT SECT50.0 ;
L 3.6 m
3600 300 avoy—+t
(o ck=18N/mm2)
o T A
: —===———-7 ¢, ==
/T 8 g
350 2970 280 500 500
: e gy TE | o
& R 8 e oS % B
* = &R =
ER
(3.600+2.970)/2=3.285m
m#Y
avs—k 0 ck=18N/mm2 0.300x0.700 0.210| 3.285 0.690 m3
BB 0.700x2 1.400| 3.285 4599 m2
Rl BB+  [0.500x0.700+0.800x0.400 0.670| 3.285 2201 m3
BR 0.500x0.500+0.500x0.400 0.450| 3.285 1478 m3
E@EE 0.300{ 2970 0.891 m2




251k K EE

& ' :

BEFT SECT90.0

L= 2.1 m
2100 300 avyy—k
(o ck=18N/mm2)
(=3 K::”L:“:L‘“ T o o : :
2 p— 7 2 S o
n ~
280 1540 280) |.500 500 |
. Hery | ER =
£ R = = RSy 3L 5 B
HE | & =
" [(2.100+1.540)/2=1.820m
, mY v
avs)—k 0 ck=18N/mm2/0.300x0.700 0.210| 1.820 0.382 m3
B OB 0.700x2 1.400| 1.820 2548 m?2
Z3 MEL  |0.500x0.700+0.800x0.400 0670 1.820 1219 m3
BR 0.500x0.700+0.500x0.400 _0550| 1.820 1001 m3
EEETE 0.300| 1540 0462 m2




( No.

itE = T HEE B
3 IR L (W3)
A R|E B yom mR | B (TOE @R | B (¥ 5] om | B
SECT 47.0 3.50
SECT 50.0 3.0} 3.50; 3.50 10.5
m m2
a&t 3.0 10.5
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EFRTFKER :

MM EBEIKE
LA ERNE - MR S EATERIE
THREHKR : XEARKR
T RNE - SR MBI ERYE
IFEER:
SATERIES. O0m ki
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18
=3
_Y Hm
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(=]
_y
I S
o
v 3
TS
(=]
vy3
g
o
;
=
3
XKEEEDOITD
KETERE
v N 0.3ml £
‘ K
@ BT

- FERIES. OmEBOES
B N = (EFAIKRIE x (EfRAE+0.3) + FFAEIE x (FHAKZFE+0.3)) - (1.08x1.10)
=(2.1%(0.240.3)+3.6%(0.24+0.3)) = (1.08x1.10)
= 2.40
=244

@ Embit
- ATERNE3. OmRBDF[E
‘ S N = (THLILA0.3) x3x FRAKIF+ (1.08x1.10)
=1(0.240.3) x3x3. 6+ (1.08x1.10)
= 4.55
=45

[ X3
- AR\ OmEKBOBEDH
EE: L =14+2+IFER+2+1424+1424+1424+1
142440, 0424+ 14+2+14+2+1+2+1
55
=55m



r B B Bl By E%Ufﬁg Bifyy Li=3=1-4
WEL 10,22,
-y |IBIERSH BI 150 k g /B m2 42.0] m2/8 |
$#50cm TnyyRE (BRT 150 k g /& { m2 42.0, m2/H
081t/m2 |EBEV))—+ [ | m3 5.0, m3/H
m3 8.0/ m3/H
B (ER) |1 m3 4.0| m3/8
m3 8.0 m3/H
- T |IRIBESE BT . m2 42.0| m2/8
#60cm TOyIERiE 3BT m2 4.0/ m2/8
1.15t/m2 |Eeav)-+ PR 5.0/ m3/8
| 8.0 m3/8
| (CEE) 4.0 m3/8
8.0] m3/8
MOIEDHT 3151 1.0| &pyB
F3 al BRI m2 19.0] m2/8
Epgaury-+ e : ¥ 50| m3/8
3 8.0 m3/8
-+ 29Y—+7 0y m2 11.0f m2/8H
7Oy (BRI ° 5.0] m3/8
BHYL—Y ¥ 8.0] m3/8 10m%4Y)
JUFHT |FET m2 19.0] m2/8
2917 oo m2 11.0] m2/H
ZDib vyt [:3 Ah m3 4.0 m3/H 10.03
(B, ®v7 m3 69.0 m3/8
#EX E NG AR m3 5.0 m3/8
| [l m3 6.0, m3/8
$ERE - /DNUBHOL— 8.0/ m3/8
B Eidil m2 38.00 m2/8 0.19
MR m2 15.0] m2/B
ZRET
WET BY m2 300.0] m2/H
=z m2 90.0f m2/H
HET
ToysiRft |ELEH 2,584 F 66.0] 18/H
25tEBX5SUT 65.0] ®/H
BEH 2.5 F 50.0] 18/8
2.5tE 2 5.5t 43.0 /5
ERET
)i ol Lend @45 m 56.0, m/H
©60 m 31.0] m/B
A&AMT  [40%120 m 27.0] m/H
50*120 m 21.0] m/B
‘ 60*120 m 18.0| m/B
I MZT YR [30cm m 420 nyH
50cm m 35.0 n¥YH
KEET
=Bshkeg |avy-+ O] AN m’ 5.0 m3/H 3
g IR m* 15.0) m2/H 2
KT [avs)-+ F-3 AR m’ 4,0 m3/9 3
=y m> 6.0 _m3/H 3
[ S ET T 5 AR m’ 4.0 m3/H 10m%Y: = |m3
HLavyy-+  (FEE |ZL—BH m’ 8.0 m3/H 10m¥Y:2 |m3
HEY | |
BET MEBELI |[#SHEEH B m3 19.0 m3/8
AH m3 5.5 m3/8H
BHEEY [#R m3 11.0] m3/8
Ah 4.0 m3/8
&5t 10.22] 10.228

(5]
A% 10.00 —






HE = KEBHIEXE &
A & | 3vru—rm) %
EET
Bk U—F 24.94
yLarvyoy—=» 12. 00
185 1EKEE 0. 69 4. 60
28 1 KEE 0.38 2.55
Rt T
BT 2.10
&&t 40. 11 7.15
=40. 1 =7.2
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XAhsN b)) &u CER BRH B ERLEARARE
# 8 T @& @& 3 m B #  |mE| oW OB REmE
ALE
+ T
I C2(SE) MEL | m3 471 " 50
BER m3 8.9 9.0
B g m3 8.9 9.0
ERT )
BRIV Y—b W1 t=20cm m3 4.1 © 4.0
mLavsy—r W2 t=10cm m3 1.7 = 2.0
321k kEE & 1.0 “ 1.0
BT
T W3 t=20cm m2 8.4 = 8.0
FEHT
BOHAT | @/ 10| 1.0
YT ABLTDS5H % 1.9 2.0
SER T AREDS5H % 2.9 =30
BT B m 25.0 25.0
K B 2.0

2.1




( No.

F

3t & +T iR E CEi P
: T@EL) 200
Am lpms T 5 oF |EEE [T §] oF |HEN(T &) o | P
SECT 139.0 | 1.0
SECT 144.0 5.0 0.5 0.75 3.8
SECT 147.5 3.5 0.0 0.25 0.9
m m3
a5t 8.5 4.7




( No.
HE % EgRavyU—+ FEE CE
3 TEARIVT)-FW1) t=20cm[B Lavh-FW2)  t=10cn|
A R\BE B e TTrrE mE | B [ThE] BE | B [T 8] um | W5
SECT 139.3 2.82
SECT 144.0 47| 2.4 262 12.3
SECT 147.5 3.5 2.22] 2.32] 8.1
SECT 139.3 2.70
SECT 144.0 47| 2.30| 2.50| 11.8
SECT 147.5 2.5 2.17| 2.24| 5.6

ERka >y — bEE

BLarvy)—MEE

20. 4 x 0. 2=4. 08m3

17.4x0.1=1. 74m3

m2

m2

15.4

~20.4

17.4




35 1k kEE

i £y

CHEFfr SECT139.0

L= 29

2900 ‘ 300

ayoy—+k
(o ck=18N/mm2)

/ — —
S ——————— o == :
2 /R g §
350 2340 419 500 500 |
: 3 ‘L‘,U‘ EE =
& B | ®m# 5 e B O
WE | & =
ER
(2.900+2.340)/2=2.620m
mY
Iy y—k 0 ck=18N/mm2{0.300x0.700 0.210| 2.620 0550 m3
B B 0.700x2 1.400| 2.620 3668 m2
Z3i BEE+  |0.500x0.700+0.800x0.400 0.670| 2.620 1755 m3
HBERE 0.500x0.500+0.500x0.400 0.450{ 2.620 1179 m3
EEEIE 0.300| 2.340 0.702 m2







( No.

HE Bt T it EE CE
: REZW)
MR |E B e @R | B (TR mR | B [T 5] o | e
SECT 136.0 2.80 |
SECT 139.0 3.00 2.80] 2.80 8.4
m m2
i 3.0 8.4




SHEEABR ADEOSEHBHEE (RIS mAH)

EFRTHKE ” Im XEERIKE
L FEATERNE : Am XS EIATERIE
THREHKE : MEARKE
THAERTE : m XS BIAERIE
IEER: . [m
SAERIES. Omk i
BT
P
32
A l\:
(=]
_V
I E H
H IR
I
7il vy,
A N
Ry R 03
I
(=]
v 3
W
(=]
v 3
N
o .
3
o
3
XEEFDITS
XEBIERE
v e 0.3ml L
KR
® EHYIT
- HEEKES. OmkHEDE S :
‘ KN =(EFAKIEx (EFAKRH0.3) +TFAKE x (FRKRER+0.3))+(1.08x1.10)
=(2.7% (0.140.3) +2.9% (0. 140.3)) = (1.08 x 1. 10)
= 1.89
= 1.9
® kEbith

+ FIERIES. OmEBDRE
2% - N = (THLWL+0.3) x3x FHAMERIE S (1.08x 1. 10)
' (0.140.3) x3x2.9+(1.08x1.10)
2.93
=29\

@ HiET
+ FEKIES. OmEKBOB/EDH
EBE: L =1424THFERE+24+14+24+1424+14241
=14+2+4+10.0+24+14+24+14+24+14+2+1
=25
=25m



I B B 2 Bify EI*:":WE% HBfr A%
BET 2.13
- ([ BIERLR BT 150k g /BELE m2 42.0] m2/8
#50cm 7oyyERiE [T : m2 42.0| m2/H
0.81t/m2 [E@Eav -+ [hE 5.0 m3/H 10m&Y:f Im3
‘ . . 80| m3/8 10mHY :fiik{m3
EE(EE) m3 4.0{ m3/82 10m%Y
m3 8.0 m3/8 10m%tY)
- | IBIEESR BT m2 42.0) m2/dH
$#60cm THyYRE [T m2 42.0] m2/H
1.15t/m2 [E#Eavy)-b [/hE 5.0 m3/H 10mHY
m3 8.0{ m3/8 10mZY
TG (ER) m3 4.00 m3/8 10m%Y
m3 8.0 m3/8B 10m%Y
NOEHT BT 1.0| &rr/H
AT 8T m2 19.0) m2/8
Hpau-b [hE ¥ 5.0] m3/8 10m%Y
° 8.0 m3/8 10m%t)
=yl 29Y-17 iy R m2 11.0 m2/H
Toy)RET R R > 5.0] . m3/8 10m4Y
n° 8.0 m3/d ‘ 10m%Y
FYFFT [FRT m2 19.0/ m2/H
2u)-+7' 0y B m2 11.0] m/8
0t avy)-+ i3] m3 4.00 m3/H 2.03
o, wx, £ m3 69.0, m3/8
hE m3 5.0] m3/8
-y m3 6.0, m3/8
&5 - MEBHIL— ¥ 8.0 m3/H
By & m2 38.0 m2/H 0.10
NEL m2 15.0] m2/H
SREL :
BET [-ra - m2 300.0] m2/H
Bz m2 90.0 m2/H
HRET
TaysiEl B 25T 66.0] &/H
25tFBZ 5.5t F 65.0 E/H
EBEH 2.5t T 50.0] f&/8
25t5 B A55tH T 43.0| @/H
KET
] ML Lo @45 m 56.0 m/H
@60 m 31.0, m/8
SEANT |40%120 m 27.0) m/8
50*%120 m 21.0] m/H
60*120 m 18.0f m/B
MZ2YRI |30cm m 42.0 /B
50cm m 35.0] 8
KEEL ‘
BAKE  |2vs)-t MR AA m 5.0] m3/8 10m¥%Y m3
g ] m’ 15.0] m2/8 10m4Y m2
KT favy-+ " AR m’ 4.0] m3/8 1BFHSY: |m3
=y m 6.0 m3/8 1#FLEY: |m3
BRI A=~ &S AH m’ 4.00 m3/8 10m¥Y m3
HLavy-+  [EE5 JL—>BH m’ 8.0/ m3/H 10m4t) m3
BED
BEL |RELT |#HEED (88 m3 19.0! m3/8
' AR m3 5.5 m3/H
St (B m3 11.0[ m3/8
A m3 | 4.0/ m3/8
& 2.13] 2.13H

=]
HEE% 2.00 -






He = KEOREEXE T E £
P/ 1 3 ‘J? 1J— b (m3) B Bm2) -
EET
Bk Y)—k 408
yLarvo)y—+»F 1.74
35 1k KEE 0.55 3.67
BT
BT 1.68

&5t 8.05 3.67

=8. 1 =3.7
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RABIN ) A DEFE B A M ERBARE

& H I & =z Al o Al 2] Bifsr = | =
AIE
+ T
$E C2(SE) #E+ | m3 0.3 ~0.3
Bt B 1 'm3 1.2 - 1.0
B1ER m3 3.2 - 3.0
Biansg m3 3.2 - 3.0
EEaVI)— b W1 t=20cm m3 4.6 - 5.0
¥Lavsy—Fp W2 t=10cm m3 1.9 2.0
12K & 1.0 1.0
48 1EkEE el 1.0 1.0
m#AT 12484 m 5.5/ 15.5
RExT 4T -1W3 t=20cm m2 6.6 7.0
KT G031 1.0 " 1.0
R T KRLDS5H ] 1.9 2.0
R T KEITDS5E. % 3.0 S 3.0
BEBERYIFLUE

BEZ = $300 3.0/  31.0
K& H 4.4 4.0




{ No.

HE ] % o o HE = D&
@ & g | BRI (B L) C2(SE) BT B _ o
’ " BEmE | FE 1] a1 BrEE | F M| e B | F B
SECT 211.5 0.6
SECT 212.5 | 1.0 0.0/ 0.30 0.3
~ |SECT 212.5 0.0
SECT 219.5 7.0 0.2/ 0.10 0.7
SECT 224.5 5.0 0.0 0.10 0.5
m} m3 m3}
&t 13.0 0.3 1.2




( No.

e % EEaVHY—F TEE DE AR
: RSO =0 T ) =106
B R B Tig |THE| mEW | 68 |vaE| mW | B [T B oW | R
SECT 211.8 1.81
SECT 219.5 7.7 161l 17| 132
SECT 226.0 6.5| 1.36| 1.49] 9.7
SECT 211.8 1.68
SECT 219.5 7.7 1.48] 1.58] 122
SECT 224.5 5.0 1.270 1.38) 6.9
EEILYU—MEE [BLaVHy— L&
22.9x 0. 2=4. 5813 19. 1x0.1=1. 91m3
m m2 m2
a5t 26.9 22.9 19.1




DEFT SECT227.5

N= 10 &RT
2500 _500 auHY—F
(o ck=18N/mm2)
o/ 7T
3| S S I
~ ~ N/ o
iﬁ%:ybU—F
350 1800 350| 850 | 500 |
iy ER =
2 8 45 ) o B S | u =
HE & =
KEEEE
arHY—bk |0 ck=18N/mm2/(0.500+0.850)/2x0.700=0.473m2
A4k 0.473/2x0.350+0.473x1.800+0.473/2x0.350 1.017| 1.000 1017 m3
Cif= M|
—k 0.250x0.500/2x1.800 0.113| 1.000 0.113 m3
&t 1130 m3
AEHEHE
BB ¥ (1+0.500x0.500)x0.700=0.783m
BREMEOHTLETS
0.783/2x0.350+0.783x1.800+0.783/2x0.350 1.683| 1.000 1683 m2
EERT g 0.850| 1.800 1530 m2




421k

=

DE&RT SECT211.5

= m
1 51R% 1900 300 avhHy—p
(o ck=18N/mm2)
\\ﬁ R —
8 \ Y | U R B < S
sl 2 —— — 3 o — St
= ' \ / =8 S
350| 1630 500 | | 500
1980
200 1620 080
. . ‘l- e |, -
2 B = % Bf%y) Lk 5 =
= BT
ZE ,
((1.900+1.630)/2x0.300+(1.980+1.620) /2x0.400)) /0.700=1.785m
mt)
a9 —k |0 ck=18N/mm20.300x0.700 0.210| 1.785 0.375 m3
B B 0.700x2 1400 1.785 2499 m2
FRiE ME+  |0.500x0.700+0.800x0.400 0.670| 1.785 1196 m3
BR 0.500x0.500+0.500x0.400 0.450| 1.785 0.803 m3
EEET BEt 0.300| 1.620 0486 m2




15R#

B

D#fT SECT211.5~SECT227.(E )

L= 155 m
QY
447
= \
FE \
T o8
L
~ E\g
B
350/ -
.I.\IL) EE -
% 0 & ) 3 B B B
5 HE | & =
ER
15.5m
‘ my
avhHy—k 0 ck=18N/mm20.447x0.362+0.350x0.633 0.383} 15500 5937 m3
B B ¥ (1+0.500x0.500)x0.995 1.112] 15500 17.236 m2
EmEE MET 0.350| 14.850 5198 m2







( No.

o % 15404 it EE D &
" H H1 H2
AR |B B oRE] mN | &5 |THE| @ | BS ToE] TE |
£ |
SECT 211.5 0.64 0.40 0.24
SECT 216.5 5.0[ 1.02| 0.830] 4.150 0.40] 0.400] 2.000f 0.62] 0.430, 2.150
SECT 219.5 3.0 1.13] 1.075) 3.22% 0.40| 0.400| 1.200f 0.73) 0.675] 2.025
SECT 223.5 4.0f 1.29] 1.210] 4.840 0.40| 0.400| 1.600| 0.89  0.810) 3.240
SECT 226.65 | 3.15] 0.67| 0.980] 3.087 0.10] 0.250; 0.788] 0.57) 0.730) 2.300]|
SECT 227.0 0.35 0.00f 0.335| 0.117 0.00| 0.050| 0.018f 0.00| 0.285 0.100
HEHES HIFHE H2FHEHS
15.419/15.5=0.995m ___|5. 606/15. 5=0. 362m 9. 815/15. 5=0. 633m
m m2 m2 m2
&at 15.5 15. 419 5. 606 9.815




( No. . )

i % BT it H & DR
; I T (W3)
A R\B Bl g omE m@m | 8 |THE @% | @ [T 5] 3E
SECT 208.5 2.20
SECT 211.5 3.0 220 220 6.6
m m2
ast 3.0 6.6
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ABTHHE
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@ FtT
- WEES. OmEKBFEOHRS
¥ - N = (LFEATERIE x (EFRAGE+0.3) + T kig x (FHKE+0.3)) = (1.08x1.10)
=(2.5% (0.140.3) +2.4x (0.240.3)) < (1.08x 1. 10)
= 1.85 '
=1.9@

o iLhhit
« FAERWES. OmEkBOHE
K% - N = (FFLWL+0. 3) x 3 x THAEKIF (1.08x1.10)
=(0.240.3) x3x2.4=(1.08x1.10)
= 3.03

=3 @

@ #ET
+ HAERNES. OmKRFEDBFESDH
EE: L =142+ ISEE+H2+H1+2+1+2+14241
=142416. 0+2+14+241424+1424+1
= 31
=31 m






I = b= 3l Bify Bify L 4=1 -4
ET 4.39
[ - | BERSR (BT 150 k g /fEEL m2 42.0] m2/8
#50cm 7oyyEkiE [sRT 150 k g MELL m2 42.0| m2/H
0.81/m2 |EEavm-+ |/ME AAh m3 5.0/ m3/H
BHIL—Y m3 8.0/ m3/H
EHEE) AN m3 4.0 m3/8
BHYL— m3 8.0/ m3/H
- T | IRERSE BT 150 k g /AL m2 42.0] m2/H
#60cm TRyRE BT 150k g /fELL m2 42.0] m2/H
1.15¢/m2 [ BB+ /R AH m3 5.0 m3/8
BHYL— m3 8.0| m3/8
EGCEEIAD m3 4.0| m3/B
BHYL—Y m3 8.0, m3/H
NOEHT R 1.0| &PFr/8
AT |BEI m2 19.0) m2/B
R+ R AR m 5.0/ m3/8
BHYL— m 8.0 m3/H
avy-+ -7 BT m2 11.0) m2/H
PA Ty m ET RTINS ) AR m’ 5.0/ m3/B
BHYL—Y m’ 8.0 m3/H
FTYRIT [FERT m2 19.0] m2/8
20Y—47"y )5k m2 11.0] m2/B
FOith -+ [ Ah m3 4.0 m3/8 3.83
e, mE, D w7 m3 69.0, m3/8
NS ] m3 5.0 m3/8
A=y m3 6.0 m3/8B
85 - DRBHIL— m’ 8.0 m3/8
Eidk g 3.0 m2 38.0f m2/H 0.56
MR m2 15.0f m2/H
RET
HET [ o34 m2 300.0, m2/H
Bz m2 90.0| m2/8
RET
7RyoiEe AL 2.5t{F & 66.0| /B
2.5tERBAS5.5LUTF # 65.0| {&/H
BE# 2.5t F B8 50.0| f&/B
25tEBA5.5tLL T i} 43.0| f&/H
KRBT -
e o Lol @45 m 56.0l m/H
@60 m 31.0{ m/H
ASEADT  |40*%120 m_ 27.0 m/H
50*120 m 21.0/ m/H
60%120 m 18.0f m/H
MZTYbT |30cm m 42.0f n¥YH
[ 50cm m 35.0] /B
KT j
Ak |39t MR Ah m’ 5.0] m3/H
B MR ‘ m’ 15.0] m2/H
KT |avsy-+ " m’ 4.0] m3/8
m’ 6.0 m3/H
EERT |-+ "5 m’ 4.0 m3/H
Blavy-+ |EH m’ 8.0] m3/H
HED :
HET (BUELT |[EGHEED |[#R m3 19.0] m3/8
i i AH m3 5.5 m3/H
SHEEY (88 m3 11.0] m3/8
AB m3 4.0 m3/B
&t 4.39] 4.39H
HLEE% 4.00







s
}

T3 & KEBREXE

A = ary1)—hkm) B #m)
ERT
E®EIvYY—F _ 4.58
HLavyy—+ 1.91
1Skt 1.13 1.68
451k KB 0.38 2.50
1S1RM 5.94 | 17.24
BRftT
BT 1.32
&t 15. 26 21.42
£15.3 £21.4







U 0°¢

@ T
COTRRY

TE &

A

@+

o M.Wu%
€ 7

M TV

@ +
Ry

107

@ +
COT Y

TGH)

3]
=
2
[\
1

¢1/0%¢

Y8 T %

o

¢l

sAEE+

i3
i

©
8
o~
—
1i

¢1/0%

L

W F

6'0

@& F

]

w

@D

d

EE

0F>M=G2

GCc>M

GZ>M

F5

T ®

6°0

FUNZET

)
=
<"
—i
1

60/721

d

(=R

«a

EHEET







